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| Semester B.Com. Examination, April/May 2021
(CBCS) (2020 — 21 and Onwards) (Freshers)
Commerce
1.6 : BUSINESS MATHEMATICS

Time : 3 Hours Max. Marks : 70
: é
Instruction : Answers should be completely either in English or Kannada.

SECTION - A !

1. Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)
a) What are natural numbers ?
b) Define Quadratic Equation.
c) If5:20:: 3:x, find the value of x.
d) Manish obtain 45 marks out of 60 marks. What percent of marks did he get ?
e) What is Banker’s gain ?

f) Given Sl = 540, r = 6%, n = 3 years, find principal amount.

2
a) IfA=[1 ﬂand8=ﬁ3 Z},findA+B.

SECTION - B

Answer any three questions. Each question carries 5 marks. (3x5=15)
2. Find the least number which divide 18, 24 and 56 leaves a remainder 2.
3. Solve by formula 6x2 =12 + 11x.

4. If 15 chairs cost ¥ 750. What will be the cost of 120 chairs at the same price ?

5. IfA=[1 -

andB = 4 1 , find AB.
-2 3 3 -2

6. Find the compound interest on ¥ 800 @ 6% p.a. for 4 years.

P.T.O.
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SECTION-C
Answer any three questions. Each question carries 12 marks. (3x12=36)
7. Solve by the method of elimination :
2X—-y=5
X—4y =—1. ?
8. If 12 pumps working 7 hours a day can lift 2,800 gallons of water in 20 days, in
how many days can 20 pumps working 9 hours a day lift 3,000 gallons of water ?
9. Find:
1) TD 2) BD 3) BG on a bill of ¥ 10,450 due 3 months hence @ 5% p.a.
10. Solve by Crammer’s rule.
8Xx+5y=3
5x + 3y = 2.
11. a) Find HCF & LCM of 45, 75 and 225.
2 -3 -1
b) If A= 3,B= e , find 3A — 2B.
' 1 4 2 0
‘) SECTION-D
Answer the following compulsory question. (1x9=9)

12. A) Draw a chart to show classification of ratios and explain.

1,

OR
B) A Printer is sold at a profit of 12 %,% for ¥ 4,500. Find its cost price and

calculate selling price of cost of a Printer ¥ 1,00,000 profit charged at 25%
on selling price. /

INB W
NPR— D
CIRTRTEAR 20T HVB-TIAPR UZ0R. T3 NB-BIRR ST 208N (5%x2=10)
a) MLRDT Bosgsh orded ?
b) wﬁrﬁmeidsaddi TR
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c) 5:20::3:x s838 X & 133 50:0&ROWD.

d) ROV 60 9081V 45 L08R FBHET, = B3R 08NER),?
e) R080°T oY Q0TBEI> ?

f) R0% wa@ = 540, r = 6%, N = 3 WRFNTT, SRR, BORIDROD.

o) A= ﬁ 3} 5% B = ﬁ Z] TS A + B R FORBAD.

TN — W
OINRTOTETL TTH TINRPT GUBOR. B3 BIrin 5 oL, (3x5=15)
2. 3exR2 ev9o3nBo3 18, 24 ) 56 dabq LTPNRITOBE €23 zs% m’oa%oﬁoag B0RO&RROWD.
3. 6x% =12 + 11x R ARZT RT0R0T VR

4. 15 30318 2363 8. 750 =TT, edde B30 120 %ozﬁrﬁ%g{ é.rae{)@a 3neos dzidﬁgﬂ

o

i - 4 1
A= B = :
[ ) 3} ; [3 2} (5633 AB odoy FordotolBco0

6. Gin. B00 3 oee 6% So3 4 SRFriert L3 18 1IGR) TorbEBAD.

NN —
OBINF)TTOTTR TVHTY &j@iﬂ@ﬁ em_épb,%. I ggm 12 203n0. (3%x12=36)
7. 33030 wcgpéoaaod VRN
2x—-y=5
X—4y=-1.

8. 12 TJoRned Qd@ 7 nogdngod 20 @5?1@@ 2,800 mea‘ E’Ded& ToFR) DRRWT
0 Zorisb O 9 Rotingod 3,000 MO Qe do@ mwm R, am,b 23eBorges ?

- 9. 3. 10,450 33 8on¥ BOoROI oees 5% T wRHEH0E BRNTR Fo@EBOD.
1) TD 2)BD 3)BG.
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10. 23007 QAR 2% VAR,
8x +5y=3
5x + 3y =2.

11. a) 45, 75 &03) 225 3 .70, 0. DR ©.7. €. WY BOBOZBOWD.

b) A= -8 2B > 33 3A — zsézbm BR800,
1 4| = 2 0 S
NMTN—- &
3INT DI Branozmon euBoR. (1x9=9)

12. A) sy S esciom doeoma 38 (i) ) Sty 308,
o)

B) %ot &oe30° O 12 Y% ©233034,500 Br. MR BRI, |53 33 23S0,
FOBOBBOWD, 0B B0IF Be. 1,00,000 WS BRoLT B3 25% =3
DOXES BRODLT S I w8,
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